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[English Version]

(Answer question no.1 and any three from the remaining guestions)

Answer any six questions : [6x5]

a) What is the relation between truth and validity?

b) When are two statement forms logically equivalent? Explain and illustrate.

c) Issimple conversion of A proposition possible? Discuss.

d) Explain ‘existential import” with illustration.

e) Discuss the paradoxes of material implication.

f)  What is a null class? What is its importance in the Boolean interpretation of a categorical
proposition?

g) Why is argument by analogy inductive?

h) Explain the Boolean interpretation of A, E, I and O proposition.

i) Explain the different senses of ‘or’.

J)  What is the method of residues? Discuss in brief.

Answer any three questions :

2.

a) Translate the following into standard form categorical propositions (any three) : [3]
i) Only Eskimos live in Greenland.
ii) All students except the unsuccessful candidates will be rewarded.
iii) Nothing is both man and God.
iv) He never drives his car to the college.
v) Children read only story books.
b) State any one rule of validity of categorical syllogism that relies on the notion of distribution of

term. [2]
¢) What is meant by distribution of a term in a proposition? [2]
d) How many terms does a standard form categorical proposition have? Which term / terms are

distributed in each of the four types of standard form categorical propositions and why? [8]
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Obvert and contrapose any two of the following : [3%2]
i) A man may have an ever smiling appearance and still be a villain.

i) Popular preachers do not always use sound reasoning.

iii) Not a few politicians are Marxists.

b) Why do the universal propositions not have any existential import, according to the Boolean
logicians? [3]
c) Express the following in Boolean notation and draw Venn diagrams— [2x3]
i) Everything is non-eternal.
i) There are idle men.
iii) My car always starts with difficulty.
a) Determine by truth-table whether the following statement forms are tautologous, self-contradictory or
contingent (any three) : [3%3]
) p=[p>(9-~a)]
i) [Po@>p)]=[(@>9)>~(r=r)]
i) {[(p>09)-(ro9)-(@vs)t>(pvr)
V) (poa)=(~p>~0)
b) Explain with examples any two criteria for appraising analogical arguments. [6]
Test the validity of the following arguments by using Venn diagrams (any three) : [5x3]
a) All men are animals, all students are men; so all students are animals.
b) All boys are men, some animals are not men; therefore some animals are not boys.
c) All good men are wise men, every happy man is a good man; so every happy man is a wise man.
d) No men are angels, some mortals are men, therefore some mortals are not angels.
By using truth-table show whether the given arguments are valid or invalid (any three) : [5%3]
a (RvS)oT, To(R-S/..(R-S)>(RVvS)
b) Po>(PvR);(Q-R)o~P/..~P
c) Either it rains and spoils the picnic or it does not rain. It does not rain. Therefore, it is false that, it
rains and spoils the picnic.
d EoFFoE/.. EVF
) KvL K/.. ~L
Explain and examine Mill’s Method of Agreement. [15]
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